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(2) The sourcevoltage in the circnit in Fie. F7.21 L N
8 vy = 95 cos 10,000 V. Find the vajuss of ¢ 1\ T
L such that 7, is in phass with v, when the — s
cHCUIL s operanng in the steady state. ol | %.l kil L
(b} For the values of L found in (a), find the e =2 ﬁ
steady-state expressions for 7, _J)_ .
Figure P7.21
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(a) The source voltage in the creuit in Fig P721 e Fow =
18 vy = %6008 10,000¢ V. Find the values of LA % ! =
L such that {, i5.in phase with v, when the — 4 ==
circuit is operating in the steady state. vl 4w L =11
- o Y |
(b} For the values of L found m (a}, find the e =
steidy-State expressions for i,. ' i | -'I.'I
Figure P7.21 .""
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(a) The source voltage in the circuit in Fig. P7.21 uskn  FEY

is v, = 96cos10,000r V. Find the values of S e

L-such that ¢, is in phase with v, when the — fa |

circuit is operating in the steady state. wl Sudl
(b) For the values of L found in (a), find the i

steady-state expressions for 1. !

Figure P7.21
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S

() For the circuit shown in Fig. P722, find the c— e .
frequency (in radians per second) at which [ ' -L

the impedance 7, 15 purely resistive. =
(b) Find the value of Z,» at the frequency of (a). g‘“ﬂ Tm“’: _:z
| =

Figure P7.22
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(a) For the orcuit shown in Fe. P722 find the ko B

frequency (in radians per second) at which T =
the Impedance Z,;; 15 purely resistive. JER
(b) Find the value of Z,, at the frequency of (a). i T-;ﬁw =

Figure P7.22
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